|EPD

VERIFIED

IMTINREES
B 3%&S © JR-AI-25488E

FUiFILmM

m LRI ]
BFEHL

WE1EHEY
HEEMREFE

| P53 Ol fE B

ORMEAZE QEE @B @FER - HRr
®FZE- VY1)

HmOBX, T2 -
B : Revoria Press E1125
TEMAK  T/IDESKE EPAR)
ENRIEEEE : /40 125ppm (A4 LEF)
RARMYAR 1 330x488mm
TV /A= AF v
il E FN R BE/ADF (R TR B EBhEtiA A )

RLWEHEE
EaEmAXAREHFSV6THIE
https://www.fujifilm.com/fb/

SuMPO EPD
(EPD)

SUMPOERIESANINTOIS L
— AL EIE AT AT F IR E HEEE S
RREBTFABERAMET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BEITOANL EVRR A/N-V3 (R aH
FUJIFILM Business Innovation Corp.

T oOJa5o0>a> > A—
Monochrome Production Printer

Revoria Press E1125

(for US)
BHRES JR-AI-25488E
EAPCRES  PA-590000-Al-08
PCR% ER A H 28
NI 202655888
RILE1EHE 2026548148
REEA YATLFREEA R
REES 2026-FB-EL-003
IRIEEEAR 20314648136

PCRLE1-DENE
REAZ 2023 98 1H
ZER M5 B
(B — Mt EE AT AT IR EHEAEHRS)
E=HWREAE 1B ET
NERIREES

ISO140251CHE ST A E J R UT -5 DIRIL LIAREE

Or#EB WA
*YATLRIEBI-FEANORIOB AR, YATLRAETLBEAD
BRIEF .

SEXTAMIWALESKRRA ) R—> 3 VA EH

- JR-AI-25488E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO

1 |MEPD

VERIFIED

BEES: JR-AI-25488E

S17Y1 VIV EFHlRE R

SuMPO EPD

F1TNBEEE (EPD)

SUMPORIEININTOI S s
— MR BIEA Y AT IR EHEE S
HREBFREXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

SREEMERIEELTEELELE,
EEHEPHR)DIEREYFUATEELTVET,

-8 AR E R EARE S5 E R TY

R - MR ERBE LB T BENRIBIROBHEEENE A,

R EENRIAEL S, 9,369,600 TF,

(B HERFERBE LB VT, ARERBENETRYFUAZHANWTEELELE,
EEEBEBNEKWh] = (EEE0.35 Wh/i]x1 B HEYOBEIGRE (EIRIER) [7808 #]+LT1EF[348 Wix1 BHEYDL T 1E5E
[6.958 h]}x5 Hx4 #x12 4 B x5 £+1000
1 B&HEYDOLT 1R [h] =8 [h]- 1 B HEVOBEREUR (FIRIKER) [7808 ]+ ENRIRE[125 #/min]+60(5)/KER)

o . . fEFR - MR
BRRTERR | BLEERR T X B e BEEEER R
RUIREE) - A5 kg-CO-eq 2.18E+03 2.67E+01 7.23E+02 1.14E+04 3.39E+02
IV EHIE kg-CFC-11eq 1.81E-04 4.20E-08 8.72E-08 5.06E-04 5.19E-08
EXREL kg-PO.3-eq 2.96E-02 1.26E-03 4.48E-04 2.90E-01 5.46E-04
[74e2d kg-SOzeq 3.58E+00 6.18E-02 7.23E-01 1.67E+01 3.10E-01
HALFEAXII Vb kg-CzHseq 4.51E-02 2.66E-04 4.92E-03 4.34E-01 3.96E-03
FEYERILS - S kg-Sbeq 1.14E+00 1.02E-04 4.05E-05 9.14E-01 7.85E-05
F1TH1 WA INY RSB EEER
—RERDFERCET 3EE
o . . R - MR
BRETERR | BLEERR i el=4 e BEEEER R
BEARE—RER - IrILF- (RPRy) MJ 461E+03 2.22E+02 3.58E+01 4.35E+04 1.87E+02
BEARE—RER - TRUVF-2BME (RPRy) M) 4.66E+01 5.02E-03 7.69E+02 1.69E+03 3.66E-02
FEBEREE—RER - TRILF— (NRPRp) M) 3.57E+04 9.54E+02 7.98E+03 2.41E+05 2.31E+03
FEFE A —REE - TRLE-25HE (NRPR,) M) 3.48E+03 3.10E-01 8.97E+00 1.90E+04 3.62E-01
HKDEHEE m? 2.01E+01 2.92E-01 8.12E+01 2.52E+02 3.71E-01
HESRICEIT2EMIER

ZOtDRIZRIEIE R

-EBRIRINF-R5-T0J5LVer3.2 £BAEGESREERS,

MRIBSUMEICEI T RS

BEVHEICHAIZER

7El-E (EREBS) Bifif 1EH CAS No. EDE
L@ 240 kg - -
Sus 53 kg - - -
IV 035 kg
T3AFVY 78 kg JREI(E, LCIF -5 N-AIDEA Ver3.5.1, SUMPOBRIESNIL TOYS LZEHT-H
T 0.80 kg Ver1.16&ERALTNET,
A 2.5 kg
LN 28 kg e
E & B ER 6.9 kg -
Z IR 28 kg
Z0fty 8.2 kg
OT-YHEDAHEIE. PCREKLUVETE - EEMBESRBL TS,

OLEIIDVNTE BEE - EERBICRESNEREFEFLLLBALCLIRHONEEA,
(BB EURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

